bﬁmw COIRspa

ITEM | Part No

(W25, 12RE 38
WP-25.25RE.38

TIG TORCH WP - 25

TENSION

TIG

[ e POWER | GOOLING
L 250A | WATER |
3/8' G

EURO CONNECTION

Mi2x1

11a

DESCRIPTION | ORIGINAL REF.

| Torcia TIG WP-25 Ergon mt.4 - 3/8"Gas
Torcia TIG WP-25 Ergon mt.8 - 3/8"Gas

- Complete TIG torch WP-25 Ergon mt4 3/8" Gas
- Complete TIG torch WP-25 Ergon mt.8  3/8" Gas

| WP-25.12RE.D7

| WP-25.25RE.D7

| WP-25.12RE.C
WP-25.25RE.C

| WP-25.12RE.EUT
WP-25.25RE.EUT
WP-25.12RE.LT

| WP-25.25RE.LT

|KT9.16
'KT9.24
KTo32

Turcla TIG WP-25 Ergon mt.4 - DINSE® 70

| Torcia TIG WP-25 Ergon mt.8 - DINSE" 70

|7 | Torcia TIG WP-25 Ergon mt.4 - ntt !:nntrai
Torcia TIG WP-25 Ergon mt.8 - Att. Cerﬂml
I Torcia TIG WP-25 Ergon mt.4 - EUROTIG

Torcia TIG WP-25 Ergon mt.8 - EUROTIG

[T ancla TIG WP-25 Ergon mt. 4 - L-TEC”

| Torcia TIG WP-25 Ergun mt.8 - L-TEC"

| Kit di completamento 8 1, E mm.
Kit di completamento @ 2,4 mm.
l Kit di completamento 8 3,2 mm.

- Complete TIG torch WP-25 Ergon mt.4 DINSE® 70

- Complete TIG torch WP-25 Ergon mt.8 DINSE" 70

Complete TIG torch WP-25 Ergon mt.4  Central Connection
Complete TIG torch WP 25 Ergon ml 8 Central Connection
Complete TIG torch WP-25 Ergon rr_zt 4 EUROTIG Connection
Complete TIG torch WP-25 Ergon mt.8 EURQTIG Connection
Complete TIG torch WP-25 Ergon mt.4 L-TEC® Connection
Complete TIG torch WP- 25 Ergon mt 8 L-TEC™ Connection

- Additional kit @ 1,6 mm.
- Additional kit @ 2,4 mm.

Additional kit @ 3,2 mm.

- WP-25 torch head WP - 25
|
| 598882 [1c/ Isolante inferiore - Torch body front insulator 598882
i 13N 20 i'”PIm serraeiéﬁfndo__ﬁ ] 05 mm - 002&' - Co_ll_et 1] '0,__5_mm. - 0,020 13N 20
[1BN21 Pinza serraeletirodo @ 1,0 mm. - 0,040" - Collet @ 1,0 mm. - 0,040 | 13Nzt
— | 13 N2 | Pinza serraeletirodo @ 1,6 mm.-1/16* - Collet @ 1,6 mm. - 1/16" | 18N22
e ?UOSBWT | Pinza serraelettrodo @ 2,0 mm. - 4/64" - Collet @ 2,0 mm. - 4/64" |
! 13N 23 | Pinza serraeleftrodo @ 2,4 mm, - 3/32" - Collet @ 2,4 mm. - 3/32" | 13N 23
| 13N 24 | Pinza serraeletirodo 8 3,2 mm. - 1/8" - Collet @ 3,2 mm. -1/8" | 13N24
13N 25 . Portapinza @ 0,5 mm. - 0,020" - Coliet body @ 0,5 mm. - 0,020" | 13N25
i 13N 26 Portapinza @ 1,0 mm. - 0,040" - Collet body @ 1,0 mm. - 0,040" 13N 26
m ' 13 N 27 | | Portapinza @ 1,6 mm. - 1/16" - Colletbody @ 1,6 mm. - 1/16" 13N 27
?OUB?WT . _ Purigpl_qza g 20 mm. - - 4/64" - Collet body @ 2,0 mm. - 4/64"
| 13N 28 o | fcﬁq]ﬁ_@g_ﬁ_zg mm. - 3{32' - Collet body @ 2,4 mm. - 3/32" | 13N 28
13 N29  Portapinza @ 3,2 mm. - 1/8" - Collet body @ 3,2 mm. - 1/8" | 13N 29
| 13ND08 [ Ugello ceramica Gr. 4@ 6,0 mm.-1/4" - Auminacup Grd4 0 60mm.-1/4" | 13N08
| 13N09 Ugello ceramica Gr. 58 B, 0 mm. - -5/16" - Alumina cup Gr.5 @ 8,0mm.-5/16" 13N 09
T T |_13N10 | Ugello ceramica Gr. 6 8 9,5 mm. - 3/8" - Auminacup Gr.6 © 95mm.-3/8° | 13N10
: | | 13N 11 | Ugello ceramica Gr. 78 11,0 mm. ?ms- - Aluminacup Gr.7 @ 11,0mm.-7/16" [ 13N 11
| 13N12 | Ugello ceramica Gr. 8 8 12,7 mm.-1/2* - Auminacup Gr.8 @ 127mm.-1/2* | 13N12
13N 13 | Ugello ceramica Gr. 10 @ 17,5 mm. - 5/8" - Aluminacup Gr. 10 @ 17,5mm. - 5/8" 13N 13

PACK

1
1
1

[ 1

{1
1
1
1
1
1

| 10

10

| 10

10

[F0]
10

MEW COIRs.pa. is in no way affiliated with DINSE"-L-TEC”. The parts advertised for sale are not genuine DINSE"-L-TEC" parts, but are parts made for and by NEW COIR spa
Reference to DINSE"-L-TEC" machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine DINSE"-L-TEC" parts in place of NEW COIR spA parts.



ITEM Part No

13N14
[ 13n1s
13N 16
13N17.
13N 18
13N 19

5 _ [ A796F 70
e | AT96FT1

| A796F72

: | AT7OBETS

[e | 45va42

| 45V43

70058

| 45V a4

| 45v45

4a

v

7 53 N 58

e i | 53N59

0 [ s3n60

53 N 61
| 53n58SN
| 53N 59 SN
| 53N 60SN
| 53NB1SN

8 — [ 54N63-20

|7a

1
\
—
|

9 [ 13N21L
13N22L
13N23L
13N24L

10 | 45v 02048
By | 45V 1168
45V 64S
| e957955
57 N 75
57 N74
158 N80
| 53N87
[ 57N75SN
| 57N74SN
| 53N B88SN
| 53N87SN
| 16.001
| 76.0011
| 16.002
| 16.003
| 16.0031
|_TG.004
| 16.0041
| 16.0042
| 76.005

" .~

.

| 45V03.12

45V04.25

| 16.200.19
1620020 |

@__%

| 1620021 |
16.200.22

__[ImpsgRatita ergonomica

DESCRPTION

Uuallo silicon nitride Gr. 4 @ 6 - 1/4"

| Uueiio sillggn_gilrlﬂn Gr_ 58 B-5/16"
l.lgello silicon nitride Gr. 6 8 9,5 - 3/8"

[Ugello silicon nitride Gr. 7 ] ‘_i_l _1!‘[!3_"
qu!ln silicnn nitride Gr. 8 8 12,7 -1/2

+1} Ugelln silicon nllrilla Gr.10 8 8 17,5-5/8"

Upgilo ceramica lungo G. 385 mm.

leln ceramica Iunun Gr. 58 8,0 mm.

|Ugello ceramica lungo Gr. 6 @ 9,5 mm.
-0,040"
- 116"

- 5/64"

Pnnapinxa Gas lens @ 1,0 mm. -

| Portapinza Gas lens @ 1,6 mm. -
| Portapinza Gas lens @ 2,0 mm,

| Portapinza Gas lens 8 2, 4 mm.

Punapinza Gas lens @ 3,2 mm.

| Ugello ceramica Gas lens 8 6 mm. - 1/4"

Ueello ceramica Gas lens @ 8 mm. 5!16"

| Ugello ceramica Gas lens B 9,5 mrn 3/8"

U[;mlu ceramica Gas lens B 11 mm. - 7/16°

Uuello » Gas lens silicon nitride Gr.4 B 6 - 1/4"

| Ugello Gas lens silicon nitride Gr5 @ 8- 5/16"
I.lual!o Gas lens silicon nitride Gr.6 8 9,5 - 3/8"

unenn Gas lens silicon nitride Gr.7 8 11- 7/16"
| Is_olants G.lens LG, ﬂiam._ i

Pinza gas lens Iatu diam@ 1- IJ 040"

| Pinza gas lens larg diam @ 1,6 - 1/16"

'P_l-nza gas lens larg diam @ 2,4 - 3/32"
Pinza gas lens larg diam @ 3,2 - 1/8"

Paﬂaplnza gas lens large diam @ 1-0,040"
| | Portapinza gas lens large diarn B 1__!il!“l£‘_

Pampinza gas lens large diam p 2,4-3/32"
Poruplnza gas lens large d diam iam @ 3,2-1/8"

Ugelln ceramica G. lens large diam. Gr.6 - 8 95
| Unellﬂ csrarnlca G. Iens large diam Gr8-0 12 8

Unsllu G. lens Iargs diam. Silicon nitride Gr.6-89,5

I.Iga!lo G. lens large diam. Silicon nitrlda 6r.8-812,8
Ugello G. lens large diam. Silicon nitride Gr10-816,0
| Ugello 6. lens large diam. Silicon nitride Ge12-519,0

2 -Riduzlone nsr Impunnalura WP 20;‘25 _ A

Mil:m 1 posizluna
Micm 2 puslzlana

Pulsania 1 posizione

_i‘fu_l_sanla 2 posizione
Pulsante lungo

i ‘Sfera e ghiera per impugnatura

| Cavo porta corrente mt. 4 term. 3/8"G

| cavo porta corrente mt. 8 term. 3/8'6

| Cavo porta corrente mt. 4 term. M12x1

| Cavo porta corrente mt. 8 term. M12x1

| Pacco cavi

| Pacco cavi

mt. 4 term. 3/8" G

‘mt. 8 term. 3/8" G

16.200.23
_16.200.24

_ Pacco cavi

mt. 4 term. M12x1

mt. 8 term. Mizn

Pacco cavi

- Silicon nitride - lava cup Gr. 4 @ 6 - 1/4* 13N14
- Silicon nitride - lava cup Gr. 5 @ 8 - 5/16" ~ 13N15
- Silicon nitride - lava cup Gr6095-3/8" 13N16
- Siln:on mu'rde Ia\.ra cup Gr. 7 @11 - 1/16" 13N17
- Silicon nitride - lava cup Gr 8 |a 12,7 -1/2" | 13M18
- Silicon ml:nde lava cup Gr.10 9175-5/8" 13N19
- Long Alumina cup Gr. 3 L=48mm. @ 5 mm. | g?ggm
- Long Alumina _c!p_@_: 4 L 48mm. 0 6, Omm A796FT1
- Long Alumina cup Gr. 5L=48mm. 0 8,0mm. A796F72
t.on_g_mumma cup Gr 6 L=48 mm. @ 9.5m:_n_._ A796F73
- Collet body GAS LENS 0 1.0mm.-0.040° | 45V42 |
- Collet body GAS LENS @ 1, 6mm. - 1/16% 45V 43
- Collet body GAS LENS @ 2,0mm., - 5/64"
- Collet body GAS LENS @ 2,4mm. - 3/32* 45V 44
- Collet body GAS LENS @ 3.2mm. - 1/8* 45V 45
- GAS LENS Aumina cup_Gc 40/6mm.- /4" | 53N 58
- GAS LENS Alumina cup Gr. 5 @ 8mm.- 5/16° 53N 59
- GAS LENS Alumina cup Gr. 6@9,5mm.- 3/8° | 53N 60
- GAS LENS Alumina cup Gr.7 @ 11mm.- ?.-’16‘_ 53 N 61
= Gas lens cup siicon nitride Gr.4 @ 6.- 1/4* |
- (as lens cup silicon nitride Gr.5 @ 8- 5/16"
- Gas lens cup silicon nitride Gr.6 @ 9,5- 3/8*
- Gas lens cup silicon nitride Gr.7 @ 11- 7/16°
- Insulator G.lens LG.diam. — 54N63-20
- LG. diam. gas lens collet @ 1 - 0,040 13N21L
- LG. diam. gas lens collet @ 1,6 - _1_,-’ 1__[_:'_'_ 13N22L
- LG. diam. gas lens cqllet B24- 3,*?2" | 13N23L
- LG. diam. gas lens collet @ 3,2 - 1/8" | 13n24L
- LG. diam, gas lens collet body @ 1-0,040" | 45V0204S
- LG, diam, gas lens collet body @ 1,6-1/16" 45V116S
- LG. diam. gas lens collet body 0 2,4-3/32" 45V64S
- LG. dlam ga_il_eg_s collat bodyﬂ 3 2- UB' 9957955
- Alumina cup | G. lens large diam. Gr6 0 95 57N75
- Alumina cup G. lens large diam. Gr.8 @ 12 8 57NT74
10 -8 16,0 - Alumina cup G. lens large diam. Gr.10 @ 16,0/ 57N88
2 @ 19,0 - Alumina cup G. lens large diam, Gr12 0 19, IJ 57NB7
- Gas lens cup lens large diam. silicon nitride Gr6 @9, 5
AGaslamwplenslamem sﬁcmm 6128
Baslm'lscmhensiametﬁam sdlconnmdeﬁrltl 316.0
wmmmwmmmmz 6190
- Ergon Handle
- Additional screw
- Reduction for WP 20/25 torch heads
- Micro 1 position
- Micro 2 positions (on-off) |
- Switch 1 position [
- Switch 2 positions (on-off)
- Long switch |
- Joint and ring
3/8G
STD
- Powercable mi4  3/8'G connection | 45V03.12
- Powercable mt.8  3/8'G connection | 45V04.25
- Powercable mt.4 M12x1 connection |
- Powercable mt 8 M12x1 connection |
86 STO
L2
_Heo
146
- Complete cable mt.4  3/8"G connection
- Complete cable mt. 8  3/8°G connecﬂnn |

M12x1 connection
M12x1 connection

- Complete cable mt. 4
- Comptete cable mt. 1)

URIGINAL REF. | PACK

10

ﬁwf

10 |
10 -4
10

10 |
10
10
10

10
10
10
10
10

10
10
10
10

10
10

| 10

10
10

10
10
10 |
10 |

10
10
10
10
10

10
10
0
10
10




	166
	167

